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Chapter Three

Review Questions

1. Firms engage in international trade because it will expand profits for the companies. Once the over all profits of companies can rise, our economy as a whole can prosper.

2. The difference between an absolute advantage and a comparative advantage is an absolute advantage is the ability to produce a specific product more efficiently that any other nation while comparative advantage is the ability to produce a specific product more efficiently than any other product.

3. A favorable balance of trade is when a country exports more than it imports. It is considered “favorable” dude to the fact if one exports more than imports, he/she has business opportunities and is making profits.

4. A nations import’s may have general restrictions on them for the benefit of the people. They include the following; a tariff is a tax on a particular good that is being imported into a country. A nontariff barrier is a nontax measure imposed by a government to favor domestic over foreign goods.

5. The reasons given for imposing trade restrictions are to keep a balanced market. If a product has a tariff, companies will be encouraged to make and sell products here to avoid the tax.

6. The general effects of import restrictions are those in which were predicted. A balance in the trade market is usually set but sometimes companies get around these trade restrictions with making the parts in another country and then assembling the finished product here.

7. The two major objectives of the World Trade Organization are to oversee the provisions or the Uruguay Round and resolve any trading disputes. The WTO also has judicial powers to mediate among members the disputing the new rules.

